# Declaration of Results Ward 03 - Kilwinning 04/05/2012

I declare that the result of the election in the Ward 03 - Kilwinning is as follows.

There are 4 councillors to be elected.

The percentage poll was 37.74%. There were 4939 valid papers and 157 rejected papers.

The quota of votes for a candidate to be elected is 988.

The first preference votes received by each of the candidates and the stage at which any candidate was elected is as:

Name of Candidate	Number of First Preference Votes	Stage at which candidate has been elected
Joe CULLINANE	1054	1
John FERGUSON	1440	1
Scott GALLACHER	363	
Stuart GARDINER	82	
Helen HAINEY	279	
Colin HEDLEY	254	
Philip HOGG	45	
Andy JONES	54	
Donald REID	525	11
Robert STEEL	695	9
Iain WALKER	148	

Of the total ballot papers, the following were rejected as void and not counted on account of:

Adjudication Reject Reason	Number
Which does not bear a unique identifying mark in a form that is capable of being read by electronic	
means;	0
On which the figure "1" standing alone is not placed so as to indicate a first preference for some	
candidate	3
On which the figure "1" standing alone indicating a first preference is set opposite the name of more than	
one candidate	23
On which anything is written or marked by which the voter can be identified except the printed number	
and other unique identifying mark on the back	0
Which is unmarked or void for uncertainty	131
Total number of ballot papers rejected	157

Signature Returning Officer Date

## Election Results Ward 03 - Kilwinning 04/05/2012

Total Number of Ballots Received	5096
Total Number of Valid Votes	4939
Number of Vacancies	4
Quota	988

Name of Candidate	Party	Stage 1 1st pref votes	Surplus of John FERGUSON	Stage 2	Surplus of Joe CULLINANE	Stage 3	Exclusion of Philip HOGG	Stage 4	Exclusion of Andy JONES	Stage 5	Exclusion of Stuart GARDINER	Stage 6	Exclusion of Colin HEDLEY
Joe CULLINANE	Scottish Labour Party	1054	0.00000	1054.00000	-66.00000	988.00000	0.00000	988.00000	0.00000	988.00000	0.00000	988.00000	0.00000
John FERGUSON	Scottish National Party (SNP)	1440	-452.00000	988.00000	0.00000	988.00000	0.00000	988.00000	0.00000	988.00000	0.00000	988.00000	0.00000
Scott GALLACHER	Scottish Conservative and Unionist	363	6.59148	369.59148	1.18959	370.78107	2.00000	372.78107	1.00000	373.78107	12.00425	385.78532	12.75298
Stuart GARDINER	Scottish Liberal Democrats	82	6.90536	88.90536	1.56525	90.47061	0.00000	90.47061	0.31388	90.78449	-90.78449	0.00000	
Helen HAINEY	Scottish Labour Party	279	16.94952	295.94952	39.19386	335.14338	2.00000	337.14338	4.19208	341.33546	10.94081	352.27627	20.94081
Colin HEDLEY	Independent	254	14.43848	268.43848	1.81569	270.25417	23.62776	293.88193	6.00000	299.88193	19.94589	319.82782	-319.82782
Philip HOGG	Independent	45	2.51104	47.51104	0.12522	47.63626	-47.63626	0.00000					
Andy JONES	Scottish Socialist Party	54	6.90536	60.90536	0.87654	61.78190	1.37649	63.15839	-63.15839	0.00000			
Donald REID	Scottish Labour Party	525	8.78864	533.78864	14.90118	548.68982	0.00000	548.68982	9.00342	557.69324	2.25044	559.94368	30.76065
Robert STEEL	Independent	695	25.42428	720.42428	2.19135	722.61563	13.06261	735.67824	18.69037	754.36861	17.31305	771.68166	174.64051
Iain WALKER	Scottish National Party (SNP)	148	341.50144	489.50144	0.50088	490.00232	0.94164	490.94396	10.13880	501.08276	10.19716	511.27992	20.82492
Non-transferable votes		0	21.98440	21.98440	3.64044	25.62484	4.62776	30.25260	13.81984	44.07244	18.13289	62.20533	59.90795
Total		4939	=	4939.00000	=	4939.00000	=	4939.00000	=	4939.00000	=	4939.00000	=

## Election Results Ward 03 - Kilwinning 04/05/2012

Total Number of Ballots Received	509
Total Number of Valid Votes	493
Number of Vacancies	
Quota	98

Name of Candidate	Party	Stage 7	Exclusion of Helen HAINEY	Stage 8	Exclusion of Scott GALLACHER	Stage 9	Surplus of Robert STEEL	Stage 10	Exclusion of lain WALKER	Stage 11	
Joe CULLINANE	Scottish Labour Party	988.00000	0.00000	988.00000	0.00000	988.00000	0.00000	988.00000	0.00000	988.00000	Elected
John FERGUSON	Scottish National Party (SNP)	988.00000	0.00000	988.00000	0.00000	988.00000	0.00000	988.00000	0.00000	988.00000	Elected
Scott GALLACHER	Scottish Conservative and Unionist	398.53830	8.62693	407.16523	-407.16523	0.00000					
Stuart GARDINER	Scottish Liberal Democrats										
Helen HAINEY	Scottish Labour Party	373.21708	-373.21708	0.00000							
Colin HEDLEY	Independent	0.00000									
Philip HOGG	Independent										
Andy JONES	Scottish Socialist Party										
Donald REID	Scottish Labour Party	590.70433	276.84091	867.54524	41.68954	909.23478	20.38089	929.61567	83.06892	1012.68459	Elected
Robert STEEL	Independent	946.32217	20.62952	966.95169	125.25469	1092.20638	-104.20638	988.00000	0.00000	988.00000	Elected
lain WALKER	Scottish National Party (SNP)	532.10484	15.84109	547.94593	20.56940	568.51533	12.94413	581.45946	-581.45946	0.00000	
Non-transferable votes		122.11328	51.27863	173.39191	219.65160	393.04351	70.88136	463.92487	498.39054	962.31541	
Total		4939.00000	=	4939.00000	=	4939.00000	=	4939.00000	=	4939.00000	]

# Preference Summary Report Ward 03 - Kilwinning 04/05/2012

Total Number of Valid	
Ballots	4939
Quota	988
Percentage Turnout	37.74

	Number of 1st preference votes for		Number of 3rd preference votes for					Number of 8th preference votes for
Candidate Name	each candidate	each candidate	each candidate	each candidate	each candidate	each candidate	each candidate	each candidate
Joe CULLINANE	1054	499	477	114	45	33	19	18
John FERGUSON	1440	373	152	118	47	17	9	11
Scott GALLACHER	363	104	109	94	31	23	15	19
Stuart GARDINER	82	147	154	105	50	39	37	20
Helen HAINEY	279	894	558	154	62	29	22	22
Colin HEDLEY	254	371	362	208	82	42	24	37
Philip HOGG	45	229	281	175	119	52	38	24
Andy JONES	54	57	145	84	26	41	28	20
Donald REID	525	433	889	163	78	42	20	16
Robert STEEL	695	320	409	204	84	55	31	16
Iain WALKER	148	1119	191	107	89	20	19	15

Number of 9th	Number of 10th	Number of 11th
preference votes for	preference votes for	preference votes for
each candidate	each candidate	each candidate
10	6	10
11	26	9
24	26	58
21	34	9
19	9	3
15	8	4
26	11	6
28	25	22
15	14	8
9	5	11
12	13	28

# Transfers Report Ward 03 - Kilwinning 04/05/2012

Valid Ballots	4939
Positions to be Filled	4
Quota	988

Stage 1	First Preferences
Joe CULLINANE	1054
John FERGUSON	1440
Scott GALLACHER	363
Stuart GARDINER	82
Helen HAINEY	279
Colin HEDLEY	254
Philip HOGG	45
Andy JONES	54
Donald REID	525
Robert STEEL	695
lain WALKER	148

Joe CULLINANE Elected with 1054 over quota 988
John FERGUSON Elected with 1440 over quota 988

Non-transferables

Stage 2 - Surplus of John FERGUSON Action Total Votes Transfer Weight Transfer Value Transfer to Scott GALLACHER 21 0.31388 6.59148 Transfer to Stuart GARDINER 22 0.31388 6.90536 Transfer to Helen HAINEY 54 0.31388 16.94952 Transfer to Colin HEDLEY 46 0.31388 14.43848 Transfer to Philip HOGG 2.51104 8 0.31388

Transfer to Andy JONES 22 0.31388 6.90536 Transfer to Donald REID 28 0.31388 8.78864 Transfer to Robert STEEL 25.42428 81 0.31388 Transfer to Iain WALKER 1088 341.50144 0.31388

21.9844

Stage 3 - Surplus of Joe CULLINANE Action **Total Votes** Transfer Weight Transfer Value Transfer to Scott GALLACHER 19 0.06261 1.18959 Transfer to Stuart GARDINER 0.06261 1.56525 25 Transfer to Helen HAINEY 626 0.06261 39.19386 Transfer to Colin HEDLEY 29 0.06261 1.81569 Transfer to Philip HOGG 0.06261 0.12522 2 Transfer to Andy JONES 14 0.06261 0.87654

Transfer to Donald REID	238	0.06261	14.90118
Transfer to Robert STEEL	35	0.06261	2.19135
Transfer to Iain WALKER	8	0.06261	0.50088
Non-transferables	3.64044		

Stage 4 - Exclusion of Philip HOGG

otage 4 - Exclusion of 1 mile 11000			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Scott GALLACHER	2	1	2
Transfer to Helen HAINEY	2	1	2
Transfer to Colin HEDLEY	2	0.31388	0.62776
Transfer to Colin HEDLEY	23	1	23
Transfer to Andy JONES	1	0.06261	0.06261
Transfer to Andy JONES	1	0.31388	0.31388
Transfer to Andy JONES	1	1	1
Transfer to Robert STEEL	1	0.06261	0.06261
Transfer to Robert STEEL	13	1	13
Transfer to Iain WALKER	3	0.31388	0.94164
Non-transferables	4.62776		

Stage 5 - Exclusion of Andy JONES

Stage 5 - Exclusion of Analy Junes			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Scott GALLACHER	1	1	1
Transfer to Stuart GARDINER	1	0.31388	0.31388
Transfer to Helen HAINEY	4	0.06261	0.25044
Transfer to Helen HAINEY	3	0.31388	0.94164
Transfer to Helen HAINEY	3	1	3
Transfer to Colin HEDLEY	6	1	6
Transfer to Donald REID	6	0.06261	0.37566
Transfer to Donald REID	2	0.31388	0.62776
Transfer to Donald REID	8	1	8
Transfer to Robert STEEL	1	0.06261	0.06261
Transfer to Robert STEEL	2	0.31388	0.62776
Transfer to Robert STEEL	18	1	18
Transfer to Iain WALKER	10	0.31388	3.1388
Transfer to Iain WALKER	7	1	7
Non-transferables	13.81984		

Stage 6 - Exclusion of Stuart GARDINER

Stage 6 - Exclusion of Stuart GARDINER			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Scott GALLACHER	1	0.06261	0.06261
Transfer to Scott GALLACHER	3	0.31388	0.94164
Transfer to Scott GALLACHER	11	1	11
Transfer to Helen HAINEY	5	0.06261	0.31305
Transfer to Helen HAINEY	2	0.31388	0.62776
Transfer to Helen HAINEY	10	1	10
Transfer to Colin HEDLEY	1	0.06261	0.06261
Transfer to Colin HEDLEY	6	0.31388	1.88328
Transfer to Colin HEDLEY	18	1	18
Transfer to Donald REID	4	0.06261	0.25044
Transfer to Donald REID	2	1	2
Transfer to Robert STEEL	5	0.06261	0.31305

Transfer to Robert STEEL	17	1	17
Transfer to Iain WALKER	7	0.31388	2.19716
Transfer to Iain WALKER	8	1	8
Non-transferables	18.13289		

Stage 7 - Exclusion of Colin HEDLEY

Stage 1 - Exclusion of Collin Heblet			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Scott GALLACHER	2	0.06261	0.12522
Transfer to Scott GALLACHER	2	0.31388	0.62776
Transfer to Scott GALLACHER	12	1	12
Transfer to Helen HAINEY	5	0.06261	0.31305
Transfer to Helen HAINEY	2	0.31388	0.62776
Transfer to Helen HAINEY	20	1	20
Transfer to Donald REID	9	0.06261	0.56349
Transfer to Donald REID	7	0.31388	2.19716
Transfer to Donald REID	28	1	28
Transfer to Robert STEEL	3	0.06261	0.18783
Transfer to Robert STEEL	11	0.31388	3.45268
Transfer to Robert STEEL	171	1	171
Transfer to Iain WALKER	9	0.31388	2.82492
Transfer to Iain WALKER	18	1	18
Non-transferables	59.90795		

Stage 8 - Exclusion of Helen HAINEY

Stage 8 - Exclusion of Helen HAINE !				
Action	Total Votes	Transfer Weight	Transfer Value	
Transfer to Scott GALLACHER	5	0.06261	0.31305	
Transfer to Scott GALLACHER	1	0.31388	0.31388	
Transfer to Scott GALLACHER	8	1	8	
Transfer to Donald REID	563	0.06261	35.24943	
Transfer to Donald REID	21	0.31388	6.59148	
Transfer to Donald REID	235	1	235	
Transfer to Robert STEEL	16	0.06261	1.00176	
Transfer to Robert STEEL	2	0.31388	0.62776	
Transfer to Robert STEEL	19	1	19	
Transfer to Iain WALKER	9	0.06261	0.56349	
Transfer to Iain WALKER	20	0.31388	6.2776	
Transfer to Iain WALKER	9	1	9	
Non-transferables	51.27863			

Stage 9 - Exclusion of Scott GALLACHER

Stage 9 - Exclusion of Scott GALLACTIEN			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Donald REID	6	0.06261	0.37566
Transfer to Donald REID	1	0.31388	0.31388
Transfer to Donald REID	41	1	41
Transfer to Robert STEEL	5	0.06261	0.31305
Transfer to Robert STEEL	3	0.31388	0.94164
Transfer to Robert STEEL	124	1	124
Transfer to Iain WALKER	5	0.31388	1.5694
Transfer to Iain WALKER	19	1	19
Non-transferables	219.6516		

Stage 10 - Surplus of Robert STEEL			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Donald REID	23	0.00597	0.13731
Transfer to Donald REID	7	0.02994	0.20958
Transfer to Donald REID	210	0.0954	20.034
Transfer to Iain WALKER	3	0.00597	0.01791
Transfer to Iain WALKER	43	0.02994	1.28742
Transfer to Iain WALKER	122	0.0954	11.6388
Non-transferables	70.88136		

Stage 11 - Exclusion of Iain WALKER			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Donald REID	1	0.00597	0.00597
Transfer to Donald REID	5	0.02994	0.1497
Transfer to Donald REID	5	0.06261	0.31305
Transfer to Donald REID	28	0.0954	2.6712
Transfer to Donald REID	175	0.31388	54.929
Transfer to Donald REID	25	1	25
Non-transferables	498.39054		

### Scottish Local Government Elections 2012: Publishing Voting Information

In compliance with Rule 61 of the Scottish Local Election Rules the Returning Officer is required to publish within one week of the declaration of the results of the poll information detailing:

- the number of first and subsequent preferences for each candidate at each polling station; and
- information for all postal ballots cast in a ward combined as if cast at a further polling station in that ward.

The relevant ward polling scheme has been adapted to assist in identification of polling station/ballot box and to provide further combination information.

### Maintaining confidentiality

To ensure that an individual's voter preferences cannot be identified, it has been necessary to aggregate the data where the number of votes cast in a polling station is less than 200. Where aggregation has been necessary this has been identified in the accompanying data. In combining polling station results the returning officer has adopted the following criteria recommended by the Electoral Management Board for Scotland, which includes:

- wherever possible votes from the same polling place, have been combined with another station at the same polling place;
- combining single polling stations that are close geographically, particularly in rural areas, including combining villages with villages;
- no polling place data has been combined with that from another ward combined manually entered votes have been combined with the final box for the Ward; and
- all postal votes for the ward are combined as one ballot box.

### Data from E-counting System

The data from the E-counting system provides the number of ballot papers that were counted electronically, including any that were entered manually rather than scanned.

### Use of Data

In releasing the data, the Returning Officer is making it freely available for public use. It is not subject to copyright and material may be re-used provided that it is acknowledged, not used in a misleading way and is reproduced accurately. The Returning Officer does not accept responsibility for any alteration or manipulation of the data once released.

### **Contact Details**

If there are any queries or comments on the data provided, please contact Martyn McKeown, Election Manager on 01294 324130 or elections@northayrshire.gov.uk.

Ward	Polling Place	Polling	Station	<b>Ballot Box</b>	Street Splits	Notes on
		District	Number	Ref		Combination
3	William Love Memorial Hall	N301	1	STO34	High LugtonRidge, Barrmill, to Woodgreen, Kilwinning	
3		N308			Lochibo Road to Five Roads	
3		N308	2	STO35	Gooseloan Cottage to Windyhall	
3	Woodwynd Hall	N302	1	STO36	Alexandra Gardens to Groatholm Way	
3		N302	2	STO37	Hamilton Street to Woodwynd	
3	Whitehirst Park Primary School	N303	1	STO38	Abbey View to Dalmahoy Way	
3		N303	2	STO39	Darmule Drive to Hillpark Rise	
3		N303	3	STO40	Hoylake Square to Mountcastle Wynd	
3		N303	4	STO41	Muirfield Place to Winton Avenue and Other Electors	
3	Cranberry Moss Community Centre	N304	1	STO42	Ardmillan to Kirkhall	
3		N304	2	STO43	Lainshaw to Other Electors	
3	Nethermains Community Centre	N305	1	STO44	Abbeygate to Vaults Lane	
3		N306			Abbots Avenue to Byrehill Avenue	
3		N306	2	STO45	David's Crescent to Stobbs Terrace	
						Combined with STO46
3	Dirran's Pavilion	N307	1	STO46	Bartonholm Terrace to Woodmill	
						Combined with STO47

# LIVE ELECTIONS MAY 2012 First Preference By Ballot Box Report Ward 03 - Kilwinning 04/05/2012

### Numbers of Preferences allocated to each Candidate

BOX ST034	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	33	25	22	6	2	0	1	1	2	1	1
John FERGUSON	107	17	7	4	1	0	0	1	0	1	0
Scott GALLACHER	25	10	10	7	4	1	0	1	1	1	2
Stuart GARDINER	2	12	14	8	4	2	1	2	0	1	0
Helen HAINEY	18	32	21	11	2	2	2	1	1	2	0
Colin HEDLEY	14	13	15	15	6	3	3	1	0	0	1
Philip HOGG	2	11	11	13	4	4	3	1	1	0	0
Andy JONES	2	2	7	2	3	1	1	2	1	0	2
Donald REID	14	15	46	10	1	2	0	0	3	2	1
Robert STEEL	31	15	22	6	3	1	0	1	0	0	1
lain WALKER	7	82	11	5	4	0	0	0	0	0	0
BOX ST035	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	68	33	24	6	1	1	1	2	0	0	0
John FERGUSON	90	19	4	8	3	0	2	0	1	2	1
Scott GALLACHER	7	2	6	6	1	1	0	3	2	3	1
Stuart GARDINER	1	5	7	7	5	3	2	1	1	2	1
Helen HAINEY	20	40	34	8	4	3	1	1	1	0	0
Colin HEDLEY	22	18	15	7	8	1	1	2	3	0	0
Philip HOGG	5	11	18	8	3	5	0	2	1	1	0
Andy JONES	1	1	6	4	0	3	3	0	1	1	2
Donald REID	22	29	55	8	5	2	2	0	0	0	0
Robert STEEL	26	22	25	8	5	0	1	1	0	0	1
lain WALKER	3	67	7	5	4	2	1	1	0	0	3
BOX ST036	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	84	25	24	9	2	4	0	3	1	0	0
John FERGUSON	94	29	9	8	6	4	0	0	0	2	0
Scott GALLACHER	23	12	5	10	1	0	1	1	1	1	6
Stuart GARDINER	8	10	11	7	4	3	2	0	1	3	0
Helen HAINEY	15	59	33	11	4	1	2	0	2	1	0
Colin HEDLEY	19	25	31	12	7	3	0	1	2	0	0
Philip HOGG	7	23	23	13	7	4	3	1	1	0	0

Andy JONES	2	2	10	4	3	1	0	2	0	2	2
Donald REID	28	22	59	7	6	2	0	2	1	1	1
Robert STEEL	53	15	24	17	7	3	6	0	0	0	1
lain WALKER	11	80	14	9	4	2	2	1	1	0	0
BOX ST037	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	88	34	27	9	5	2	2	0	1	0	1
John FERGUSON	100	35	13	8	4	1	0	0	1	3	0
Scott GALLACHER	26	10	10	5	2	1	3	0	1	0	4
Stuart GARDINER	10	10	15	6	6	0	1	4	1	1	0
Helen HAINEY	14	65	47	12	2	2	2	4	1	0	0
Colin HEDLEY	17	29	29	15	9	4	2	1	1	1	0
Philip HOGG	8	20	29	14	8	4	2	1	1	0	1
Andy JONES	2	4	6	3	2	3	1	2	4	3	0
Donald REID	35	34	68	15	8	5	2	1	1	2	0
Robert STEEL	55	26	31	15	5	3	1	2	0	0	1
lain WALKER	16	77	14	8	7	1	2	0	0	1	3
BOX ST038	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	58	35	52	15	4	2	4	2	0	0	0
John FERGUSON	105	25	16	16	6	2	1	1	1	1	0
Scott GALLACHER	26	12	8	11	1	1	2	0	1	0	4
Stuart GARDINER	7	18	13	14	5	6	1	1	1	4	0
Helen HAINEY	18	76	40	8	10	4	1	2	1	0	0
Colin HEDLEY	19	37	34	19	10	4	3	3	0	0	0
Philip HOGG	1	23	22	15	10	8	3	1	1	2	0
Andy JONES	5	1	12	9	1	4	2	0	2	2	2
Donald REID	56	36	68	15	7	3	3	3	2	0	0
Robert STEEL	104	25	34	16	7	6	2	2	1	0	0
Iain WALKER	7	87	15	9	12	1	3	1	1	0	3
BOX ST039	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE John FERGUSON	72 92	42 27	44 16	5 10	3	2	0	0	2	0	0
Scott GALLACHER	92	21				4				_	$\sim$
	22					1	2	1	0	0	0
	23	2	8	6	1	2	2	3	1	1	3
Stuart GARDINER	8	2 6	8	6 13	1 5	2	2	3 2	1 2	1 0	3
Stuart GARDINER Helen HAINEY	8 13	2 6 67	8 6 41	6 13 15	1 5 5	2 2	2 3 1	3 2 2	1 2 0	1 0 1	3 0 0
Stuart GARDINER Helen HAINEY Colin HEDLEY	8 13 21	2 6 67 28	8 6 41 22	6 13 15 20	1 5 5 3	2 2 2 1	2 3 1 2	3 2 2 3	1 2 0 0	1 0 1 3	3 0 0
Stuart GARDINER Helen HAINEY Colin HEDLEY Philip HOGG	8 13 21 2	2 6 67 28 15	8 6 41 22 17	6 13 15 20 9	1 5 5 3 10	2 2 2 1 2	2 3 1 2 2	3 2 2 3 1	1 2 0 0 5	1 0 1 3 0	3 0 0 0
Stuart GARDINER Helen HAINEY Colin HEDLEY Philip HOGG Andy JONES	8 13 21 2 4	2 6 67 28 15	8 6 41 22 17 7	6 13 15 20 9 6	1 5 5 3 10 3	2 2 2 1 2 3	2 3 1 2 2	3 2 2 3 1	1 2 0 0 5 1	1 0 1 3 0	3 0 0 0 1
Stuart GARDINER Helen HAINEY Colin HEDLEY Philip HOGG Andy JONES Donald REID	8 13 21 2 4 45	2 6 67 28 15 3 23	8 6 41 22 17 7 53	6 13 15 20 9 6 22	1 5 5 3 10 3 7	2 2 2 1 2 3 2	2 3 1 2 2 1 0	3 2 2 3 1 1 0	1 2 0 0 5 1	1 0 1 3 0 3 2	3 0 0 0 1 0 2
Stuart GARDINER Helen HAINEY Colin HEDLEY Philip HOGG Andy JONES Donald REID Robert STEEL	8 13 21 2 4 45 48	2 6 67 28 15 3 23	8 6 41 22 17 7 53 30	6 13 15 20 9 6 22 15	1 5 5 3 10 3 7 4	2 2 2 1 2 3 2 5	2 3 1 2 2 1 0 2	3 2 2 3 1 1 0	1 2 0 0 5 1 0	1 0 1 3 0 3 2	3 0 0 0 1 0 2
Stuart GARDINER Helen HAINEY Colin HEDLEY Philip HOGG Andy JONES Donald REID Robert STEEL Iain WALKER	8 13 21 2 4 45 48 6	2 6 67 28 15 3 23 30 71	8 6 41 22 17 7 53 30 20	6 13 15 20 9 6 22 15 6	1 5 5 3 10 3 7 4 13	2 2 2 1 2 3 2 5 2	2 3 1 2 2 1 0 2 2	3 2 2 3 1 1 0 0	1 2 0 0 5 1 0 0	1 0 1 3 0 3 2 0	3 0 0 0 1 0 2 1 2
Stuart GARDINER Helen HAINEY Colin HEDLEY Philip HOGG Andy JONES Donald REID Robert STEEL lain WALKER BOX ST040	8 13 21 2 4 45 48 6 1st	2 6 67 28 15 3 23 30 71 <b>2nd</b>	8 6 41 22 17 7 53 30 20 <b>3rd</b>	6 13 15 20 9 6 22 15 6 4th	1 5 5 3 10 3 7 4 13 5th	2 2 2 1 2 3 2 5 2 6th	2 3 1 2 2 1 0 2 7th	3 2 2 3 1 1 0 0 0	1 2 0 0 5 1 0 0 0 9th	1 0 1 3 0 3 2 0 1 10th	3 0 0 0 1 0 2 1 2 11th
Stuart GARDINER Helen HAINEY Colin HEDLEY Philip HOGG Andy JONES Donald REID Robert STEEL lain WALKER BOX ST040 Joe CULLINANE	8 13 21 2 4 45 48 6 <b>1st</b> 59	2 6 67 28 15 3 23 30 71 <b>2nd</b> 43	8 6 41 22 17 7 53 30 20 <b>3rd</b> 31	6 13 15 20 9 6 22 15 6 <b>4th</b>	1 5 5 3 10 3 7 4 13 5th	2 2 2 1 2 3 2 5 2 6th	2 3 1 2 2 1 0 2 2	3 2 2 3 1 1 0 0 0 8th	1 2 0 0 5 1 0 0 0 <b>9th</b>	1 0 1 3 0 3 2 0	3 0 0 0 1 0 2 1 2
Stuart GARDINER Helen HAINEY Colin HEDLEY Philip HOGG Andy JONES Donald REID Robert STEEL lain WALKER BOX ST040 Joe CULLINANE John FERGUSON	8 13 21 2 4 45 48 6 1st 59 96	2 6 67 28 15 3 23 30 71 <b>2nd</b> 43 22	8 6 41 22 17 7 53 30 20 <b>3rd</b> 31	6 13 15 20 9 6 22 15 6 <b>4th</b> 13	1 5 5 3 10 3 7 4 13 <b>5th</b> 4	2 2 2 1 2 3 2 5 2 6th	2 3 1 2 2 1 0 2 2 <b>7th</b> 3	3 2 2 3 1 1 0 0 0	1 2 0 0 5 1 0 0 0 <b>9th</b>	1 0 1 3 0 3 2 0 1 <b>10th</b>	3 0 0 0 1 0 2 1 2 11th
Stuart GARDINER Helen HAINEY Colin HEDLEY Philip HOGG Andy JONES Donald REID Robert STEEL lain WALKER BOX ST040 Joe CULLINANE John FERGUSON Scott GALLACHER	8 13 21 2 4 45 48 6 <b>1st</b> 59	2 6 67 28 15 3 23 30 71 <b>2nd</b> 43	8 6 41 22 17 7 53 30 20 <b>3rd</b> 31	6 13 15 20 9 6 22 15 6 <b>4th</b>	1 5 5 3 10 3 7 4 13 5th	2 2 2 1 2 3 2 5 2 6th	2 3 1 2 2 1 0 2 2 <b>7th</b> 3	3 2 2 3 1 1 0 0 0 8th	1 2 0 0 5 1 0 0 0 <b>9th</b> 0 2	1 0 1 3 0 3 2 0 1 10th	3 0 0 0 1 0 2 1 2 11th
Stuart GARDINER Helen HAINEY Colin HEDLEY Philip HOGG Andy JONES Donald REID Robert STEEL lain WALKER BOX ST040 Joe CULLINANE John FERGUSON	8 13 21 2 4 45 48 6 <b>1st</b> 59 96 20	2 6 67 28 15 3 23 30 71 <b>2nd</b> 43 22 6	8 6 41 22 17 7 53 30 20 <b>3rd</b> 31 15 6	6 13 15 20 9 6 22 15 6 4th 13 10	1 5 5 3 10 3 7 4 13 5th 4 5	2 2 2 1 2 3 2 5 2 6th 3 2	2 3 1 2 2 1 0 2 7th 3 1	3 2 2 3 1 1 0 0 0 8th	1 2 0 0 5 1 0 0 0 <b>9th</b>	1 0 1 3 0 3 2 0 1 <b>10th</b>	3 0 0 0 1 0 2 1 2 11th 1 4

Philip HOGG	2	15	24	12	8	4	1	2	3	0	1
Andy JONES	3	2	3	7	1	4	2	4	1	2	1
Donald REID	49	30	57	7	7	2	1	0	1	0	1
Robert STEEL	45	23	36	17	9	5	2	0	1	0	1
lain WALKER	8	76	14	13	12	3	0	2	1	2	1
BOX ST041	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	63	33	40	3	4	3	1	0	2	0	0
John FERGUSON	107	15	5	5	4	1	0	1	1	1	2
Scott GALLACHER	22	8	8	8	1	2	0	2	0	3	3
Stuart GARDINER	5	13	7	4	2	2	4	0	1	2	0
Helen HAINEY	14	65	36	5	4	1	1	3	2	0	0
Colin HEDLEY	21	26	23	15	2	1	1	3	1	0	0
Philip HOGG	1	18	17	10	8	2	1	2	2	0	0
Andy JONES	3	2	13	3	0	2	2	2	2	3	1
Donald REID	50	28	55	10	6	3	1	0	0	0	1
Robert STEEL	58	22	33	12	4	0	0	0	1	1	0
lain WALKER	3	84	12	4	3	1	2	0	0	2	3
BOX ST042	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	111	34	27	4	6	2	0	3	0	0	2
John FERGUSON	78	36	12	5	5	0	1	1	0	3	0
Scott GALLACHER	13	4	7	3	1	0	1	0	4	1	7
Stuart GARDINER	1	5	2	4	0	1	3	2	1	4	0
Helen HAINEY	18	69	54	11	3	1	3	0	2	0	1
Colin HEDLEY	5	11	12	5	8	2	2	4	1	1	0
Philip HOGG	0	5	5	6	4	4	4	4	2	0	1
Andy JONES	11	9	17	7	2	3	1	1	2	1	0
Donald REID	20	45	66	17	7	7	0	0	0	2	0
Robert STEEL	27	12	27	12	4	5	5	1	0	0	1
lain WALKER	21	63	16	9	7	3	0	1	2	1	1
BOX ST043	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	81	37	19	10	4	2	1	1	0	0	1
John FERGUSON	79	39	10	2	2	0	1	0	0	1	1
Scott GALLACHER	16	0	4	3	3	0	2	1	1	2	7
Stuart GARDINER	2	5	7	2	0	4	1	1	4	4	0
Helen HAINEY	13	44	47	12	6	2	1	2	1	0	0
Colin HEDLEY	5	5	17	9	4	2	3	5	2	1	0
Philip HOGG	1	10	8	9	9	3	2	2	3	1	2
Andy JONES	6	12	15	9	3	3	3	0	1	3	0
Donald REID	19	36	50	9	4	4	1	1	1	0	0
Robert STEEL	35	22	27	10	1	6	1	0	1	1	1
lain WALKER	24	53	15	6	2	0	1	2	1	1	1
BOX ST044	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	39	18	23	7	2	2	1	1	0	0	1
John FERGUSON	64	17	6	6	0	0	0	0	0	3	0
Scott GALLACHER	11	1	2	4	1	3	0	0	1	1	2
Stuart GARDINER	4	6	5	3	2	1	2	1	2	0	0
Helen HAINEY	16	39	23	8	1	0	3	1	1	0	0

Colin HEDLEY	16	18	22	8	2	2	1	1	0	0	1
Philip HOGG	0	8	8	8	4	1	0	2	0	1	0
Andy JONES	3	3	3	7	0	3	0	0	2	0	1
Donald REID	20	23	41	6	2	1	3	1	1	1	0
Robert STEEL	32	8	16	12	8	2	1	1	0	1	1
Iain WALKER	7	58	6	2	1	0	0	0	1	0	1
BOX ST045 & STO46	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	71	45	47	7	5	1	1	0	0	1	0
John FERGUSON	96	21	9	12	1	2	1	1	1	3	2
Scott GALLACHER	19	10	6	5	5	3	1	1	4	3	6
Stuart GARDINER	2	6	10	9	6	7	2	2	2	4	1
Helen HAINEY	30	62	36	18	6	1	1	1	2	1	0
Colin HEDLEY	19	30	30	16	2	3	3	6	2	1	0
Philip HOGG	4	19	19	8	6	3	6	2	3	1	0
Andy JONES	0	7	13	6	3	2	4	3	2	3	2
Donald REID	34	29	73	5	9	4	0	2	1	1	1
Robert STEEL	63	24	16	17	7	4	3	2	2	2	1
lain WALKER	7	66	11	4	7	1	3	2	2	0	4
BOX Postal 009	1st	2nd	3rd	4th	5th	6th	7th	8th	9th	10th	11th
Joe CULLINANE	227	95	97	20	3	9	4	5	2	3	3
John FERGUSON	332	71	30	24	9	4	0	3	4	5	2
Scott GALLACHER	132	27	29	15	8	6	2	6	6	8	9
Stuart GARDINER	24	43	46	24	8	7	11	4	3	7	7
Helen HAINEY	71	221	105	21	10	8	4	4	4	3	1
Colin HEDLEY	45	92	90	55	17	14	1	4	3	0	2
Philip HOGG	12	51	80	50	38	8	11	3	3	5	0
Andy JONES	12	9	33	17	5	9	8	3	9	2	9
Donald REID	133	83	198	32	9	5	7	6	4	3	1
Robert STEEL	118	76	88	47	20	15	7	6	3	0	1
lain WALKER	28	255	36	27	13	4	3	5	3	5	6

NB The STV election results cannot be calculated from these numbers.